
Adding Complements of 99 (A)Find the complement of each number that makes the sum 99.
36 + ____ = 99 38 + ____ = 99
____ + 33 = 99 93 + ____ = 99
____ + 93 = 99 ____ + 94 = 99
____ + 6 = 99 ____ + 84 = 99
____ + 47 = 99 ____ + 58 = 99
13 + ____ = 99 45 + ____ = 99
____ + 43 = 99 33 + ____ = 99
____ + 12 = 99 96 + ____ = 99
____ + 8 = 99 ____ + 80 = 99
____ + 87 = 99 41 + ____ = 99
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Adding Complements of 99 (A) AnswersFind the complement of each number that makes the sum 99.
36 + ____ = 99 38 + ____ = 9963 61____ + 33 = 99 93 + ____ = 9966 6____ + 93 = 99 ____ + 94 = 996 5____ + 6 = 99 ____ + 84 = 9993 15____ + 47 = 99 ____ + 58 = 9952 4113 + ____ = 99 45 + ____ = 9986 54____ + 43 = 99 33 + ____ = 9956 66____ + 12 = 99 96 + ____ = 9987 3____ + 8 = 99 ____ + 80 = 9991 19____ + 87 = 99 41 + ____ = 9912 58Math-Drills.Com


